Grammar and punctuation

Insert brackets in the correct place in the sentences below.

=

Jane who is 4 years old has started nursery.
The car that was blue and yellow was Toyota made.

Neil Armstrong who was the first person to walk on the
moon was born in 1969.

Tom has served as nurse in the NHS National Health
Service for more then a decade.

Tina studied all night for her mathematics test.

Benjamin our best bowler took three wickets.
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Learn meaning, write synonym and make a sentence of each given word.
% hypnotic

blameworthy
% woolly
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Reasoning
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799.01 x 1000 =
4L, 50.5m-= cm = mm

1. Jimate % of his pizza. Jane ate % of her pizza. Who ate the
most pizza?
&
2. Draw three different rectangles which all have an area of 72
cm?,
3. Convert these improper fractions to mixed numbers.
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